3308 (B) &REHs

2] FF RE | MR | HiBER| Rk |HBER| Rk |HBEB| RE |HHEE| ik
BEFHA 3 r=g 5 |100F#|11.15 PB| 100;Rf%| 11.31
FHE— 3 R 5 400 53.50 |100F:&E| 11.33 | 100k 11.48
£ 4 RHEM 2 =#Br B2 |100F:E| 11.48 |1007#RpEs| 11.51 200 2422 |s00r | 43.88
MYEEE 2 Ed=abld 5 400 54.05 200 23.47 l400r () | 43.88
& FKHE 2 =N 2 400 50.88 PB| 100F32 | 11.80 | 1007#Rks| 11.84 |400r w [ 43.88
e MIES 2 dsabld =2 400 |53.98PB| 400H | 61.48(PB)
fef] FH B 2 JIITE E2 400 |53.56 PB|100FEE| 12.21 J4o0or ® | 45.11
HE 2 | R HE| B SP 11m83 PB
IR AE 2 $FHE 2 T) 12m81 PB H) 1m75 |400r ® | 45.11
B oL HE 2 BRF 5 HJ 1m75 100 DNS
RER & 2 h 2 =4 Z 400 62.24 |100FFE| 13.27 |1007&ks| 13.21 [200r W | 52.57
AFEXH 2 iy dRalET] Zz | 1007 | 13.88 400H |72.36 PBJ400rR (W | 5257
IINRFT A 2 =4 LS8 400 63.46 200 28.07 J400rR (W | 5267
FXEF] 2 2 Yok | Z | 100H |[21.62PB| 400H |86.22PB|400rR () | 52.57
P2 INSIEZS 1 ¥yH— 2 |100F:%E| 11.63 |1007#&Es| DNS 200 24.03 |400r | 43.88
INERE 1 Hm= =] 400 53.74 200 | 24.73(PB)
NHIE 1 BFH— 2] 100 12.18 LJ 5m78 l400r ® | 45.11
INBIER 1 AEE| B 100 12.69 LJ 5m92 PB
EHE— | B 2 | 400H | 54.30
INIR B A 1 = Z 3000 (11.13.90
ZIEThd 1 ¥yH— L8 800 2.38.95
FHiEZN 1 izl 2 1500 | 4.41.84
Bz A 1 =qN 5 1500 | 4.31.84
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